EARAROBREBRT —5 XN—ZXBISH—F 2022465898 (B) 3EAHIH

NM5S%3% 5551 150kE EEENEE R
[AB2] 1 71,600,000 3  275:640,000 5 ~ 3 7&:400,000 3 / 4 7&:240,000 @ 5 7& : 160,000 3
ARE WERS, I BE | BT (7B [51L (B9 | BARG | L3 |88 | Ax | Al | 956 TR / BT / SENS
~ 4 3 A2 1:13.6 1-1 38.8 - 2 470 | EEE (W)
117113| /~04 56.0 (=) (-13) | RAGRADR
R:O-bLLsb(0 #:ReS5—U E&) 455

ISAOA4EY 3 ﬁ%ﬁz 1:(195).4 97 389 - | 1 (4_519) gé—égg (11v#h)
KR:NA40 B:yvAUFTN—h e
JLE—F 37 4 3 Eg%ﬁ%ﬁﬁ 1( 71?:? 5-5 9.8 - 4 (11579) g;;zggzx (KH)
RiISVFvY7 8Ly REPVA IHA=ZT7—LA
T4 Ia—~RU— e ] 1:(115).6 12-12 387 - | 7 (:% §§§ (K#)
RivAYNUF VY B:F—F—RTU—7T BE BB
BrFo 3 g{lolgé 1(:31/54.)7 66 397 - | 6 ig;) %ggfg (i)
RiVIN=RF—b B:AVFT7AY BIET 7—L
61112 Z#IVES 3 | aEw— e 44 |404| - | 8 (4+058) AR (R
RiI7rFyyasy §:9VAVIE— AR IRFAT7—LA
] 6| 7vsare w3 | BEEE 162 o s - | SR O
R:AVYITSvIEl BIRFARINKIZ E=e
glsl10 TA7FF L— 3 gg’%‘?ﬁi 1:(18.4 33 |41.3] - | 9 (ﬂ;‘) %$5§ x)
RiFZAUAYRA NUFY kb B:YYANIYT RO%S
9lgl15| FvI— 3 GARX 1:(116).6 1414 1391 - | M (4_122) EEE@ )
RiFI/VUITYR BA—LTUPAR SERE
10 8l16| NTIHTYv—UR 3 ;fl%;¥ 1:(1163'8 R i B (4:7‘; ﬁg)—éggg)
Rib—tY5— B:Zh—U—51Y L—2ZR— 2855

it 3 | HRAR 1:16.9 8-9 40.6| - 16 | 481 |EREEX (KH)
EHQ rore st @e) w) | FHOLTE

R:IA(EAVITYR BAXAEVR—Y Pu e ]
1205|9 | S=YYNT VY — 3 ?z*grc‘-ﬁ 1(71{:? -1 |40.3] - | 15 ig)z %ﬂ;g% (KH)
R:S= BHYNTIH— HE L
N 3 | BRE 1:17.5 16-15  |39.4| — | 14 | 431 |¥BIC ()
Eﬂ 7| Y PARR 3 A8 G | Bk
RINNVTSY BiA4TU—5 114535
1417 |14| YTV TIPU— i 3 5%%%%‘%?& 1(:31/74.)6 2-2 ne| - 3 (4_418) ;ggg (V)
R:AX—KT7ITY BHRSSVY— Bl &
IR %a A7 4 3 23?‘62% 1(:31/74.)8 7-8 ne| - 10 (4_437) %ggg— (K#H)
RNRROD B:YISHYNRS Pk 89
] eI w3 | LEOWHE o 516 | — | - | 5 (4623; W O
RPIFPITRAFVA B:A9ASYT BIRAHHRES
@ 1—F—&BIEL
13—7+—
20—7F—
30—7— 13,14,10,2,8,11,1,12,5,6,9,3,16,15,4,7
43—F— 13,14,10,2,8,11,5,1,12,6,9,3,16,15,7,4
o ILRE
B s 13 520/ AR 5-13 440/ % 3= 3-7 460M4 3EE 5-8-13 1,740M
B B 13 210 8-13 820/ B 7-3 1,100 3EH 13-5-8 10,630/
5 130M4 5-8 390 F5 E 5-13 1,010
8 190M4 =51 13-5 2,380M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



